SAP ABAP table LOP S LIST HD COM {Embedded option list header communication structure}
LOP_S_LIST HD_COM-LOP_CAT = LOP_C CATLOP CAT LOP_C_CAT

R 0..N | CLIENT [CLNT (3)]
- LOP_CAT [CHAR (4)]

-7 LOP_C_DECL_GRP

LOP S LIST HD COM-DECL _GROUP = LOP_C DECL GRP-DECL GROUP O-N CLIENT [CLNT (3)]

- | DECL_GROUP [CHAR (4)]

- - LOP_C_GRP

LOP S LIST HD COM-LOP GROUP = LOP _C GRP-LOP_GROUP CLIENT [CLNT (3)]

--------- 0..N
LOP_GROUP [CHAR (4)]

_______________________________________ LOP_C_TXTGRP

LOP S LIST HD COM-TXT GROUP IT = LOP C TXTGRP-TXT GROUP  0..N |CLIENT [CLNT (3)]

R —— 0N | TDOBJECT [CHAR (10)]
LOP S LIST HD COM-EVENT = PPE C EVENTS-EVENT TXT GROUP [CHAR (4)]

Tt~ - PPE_C _EVENTS

______________________ 0N CLIENT [CLNT (3)]
LOP S LIST HD COM-CAL ID RESULT = TFACD-IDENT " TEVENT [CHAR (4)]

~ TFACD
- 0..N' | IDENT [CHAR (2)]




